Section—-C 2x20=40
(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 20 marks.
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10. What do you mean by Economic Liberalisation ?
What are the various causes of adoption of
Economic Liberalisation in India ? Explain.

TR SERIRToT | 39 o THFd § 2 WG H aferen
ISR ] ST W & 1 HRO & ? GAARTI

11. Explain meaning, scope and importance of
Labour Statistics.
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12. Explain in detail the Integrated Rural Development
Programme.
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13. Explain the problems of labour in developing
economy like India.
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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given

instructions.
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Section—-A 10x2=20
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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Labour Policy
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Casual labour
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Organised labour
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Rural unemployment
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(vii) National Labour Commission
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(viii) Urban Labour
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Section-B 4%x10=40
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 10 marks.
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2. What is meant by ‘Organised Labour’ ? What are
its main problems ?

Hiifed sfies & = Ay § 2 sEel HEA wweEn
FNE ?

3. What do you understand by National Employment
Policy ?
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4. Describe the main sources of Labour Statistics.
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5. Discuss importance of Labour.
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6. Explain the term labour turnover.
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7. Describe the various problems of Industrial
Development in India.
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8. Explain the characteristics of Labour Statistics Act,
1953.
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9. Explain unemployment and give suggestions for
eradication of it.
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